

s-CONVEX FUNCTIONS IN THE THIRD SENSE

SERAP KEMALI, SEVDA SEZER*, GÜLTEKİN TINAZTEPE, AND GABIL ADILOV

ABSTRACT. In this paper, the concept of *s*-convex function in the third sense is given. Then fundamental characterizations and some basic algebraic properties of *s*-convex function in the third sense are presented. Also, the relations between the third sense *s*-convex functions according to the different values of *s* are examined.

1. Introduction

Convex functions are one of the important structures which interconnect the branches of both pure and applied mathematics such as geometry, analysis and optimization. In this context, the new findings about these functions in one aspect of mathematics have generally impact on the others, even other sciences e.g. economics. To illustrate, the quasiconvex functions which can be thought as the extension of convex functions have led to new approaches in microeconomics, game theory and equilibrium theory [14,18]. Another generalizations of convexity, \mathbb{B} -convexity and \mathbb{B}^{-1} -convexity have made the progress in same theories for abstract economies [1–3, 10, 11, 15, 28, 29]. The abstract convex functions with respect to some elementary function families, which is another approach in generalization of these functions, have made substantial contributions to optimization theory [4, 25]. As it can be seen from the examples, the generalizations and extensions of the notion of convexity can yield to notable advances. So, they have always a place in pure and applied sciences. This study may be counted as one of them.

The classical definition of convex functions on a convex subset A of vector space X is the statement that $f : A \rightarrow \mathbb{R}$ is said to be convex function if

$$f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

for all $x, y \in A$ and $\lambda \in [0, 1]$.

In [20], one of the most extensive generalizations of the definition above is introduced, namely, k -convex sets and (k, h) -convex functions, as follows.

Let $k : (0, 1) \rightarrow \mathbb{R}$ and D be subset of X . If

$$(1) \quad k(\lambda)x + k(1 - \lambda)y \in D$$

Received December 23, 2020. Revised August 17, 2021. Accepted August 30, 2021.

2010 Mathematics Subject Classification: 26A51, 26B25.

Key words and phrases: *s*-convexity, *p*-convex set, *p*-convex function.

* Corresponding author.

© The Kangwon-Kyungki Mathematical Society, 2021.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

for all $x, y \in D$ and $\lambda \in (0, 1)$, then D is called k -convex set. Let $D \subseteq X$ be a k -convex set and let $h : (0, 1) \rightarrow \mathbb{R}$ and $f : D \rightarrow \mathbb{R}$. If for all $x, y \in D$ and $\lambda \in (0, 1)$,

$$(2) \quad f(k(\lambda)x + k(1-\lambda)y) \leq h(\lambda)f(x) + h(1-\lambda)f(y)$$

is satisfied, then f is said to be (k, h) -convex function. The case of $k(\lambda) = \lambda$ and $h(\lambda) = \lambda$ gives the classical definition of convex set and function. In case of the choice of $k(\lambda)$ and $h(\lambda)$ as the powers of λ , this definition yields to special kinds of convexity which attract many researchers.

By taking $k(\lambda) = \lambda^{\frac{1}{p}}$ and $h(\lambda) = \lambda^{\frac{1}{p}}$ for $0 < p \leq 1$ in (1), (2), the concepts of p -convex set and p -convex function are obtained, which have already introduced in [7, 27].

DEFINITION 1.1. [7] Let $U \subseteq \mathbb{R}^n$ and $0 < p \leq 1$. If for each $x, y \in U$, $\lambda, \mu \geq 0$ such that $\lambda^p + \mu^p = 1$, $\lambda x + \mu y \in U$, then U is called a p -convex set in \mathbb{R}^n .

It is clear that any interval of real numbers including zero or accepting zero as a boundary point is a p -convex set.

DEFINITION 1.2. [27] Let $U \subseteq \mathbb{R}^n$ and let $f : U \rightarrow \mathbb{R}$ be a function. If the set

$$epif = \{(x, \alpha) \in \mathbb{R}^{n+1} : x \in U, \alpha \in \mathbb{R}, f(x) \leq \alpha\}$$

is p -convex set, then f is called a p -convex function.

The following theorem gives us a characterization of p -convex functions:

THEOREM 1.1. [27] Let $U \subseteq \mathbb{R}^n$ and let $f : U \rightarrow \mathbb{R}$ be a function. Then, f is a p -convex function if and only if U is a p -convex set, for all $\lambda, \mu \geq 0$ such that $\lambda^p + \mu^p = 1$ and for each $x, y \in U$

$$(3) \quad f(\lambda x + \mu y) \leq \lambda f(x) + \mu f(y)$$

is satisfied.

The case $k(\lambda) = \lambda^{\frac{1}{s}}$ and $h(\lambda) = \lambda$ for $0 < s \leq 1$ in (2) corresponds to the following type of s -convexity, which was introduced by Orlicz in [22] and was used in the theory of Orlicz spaces [19, 21, 24].

In the following definition, the concept of s -convex set is the same as the concept of p -convex set in Definition 1.1.

DEFINITION 1.3. [22] Let $s \in (0, 1]$ and $U \subseteq \mathbb{R}^n$ be a s -convex set. A function $f : U \rightarrow \mathbb{R}$ is said to be s -convex in the first sense if

$$(4) \quad f(\lambda x + \mu y) \leq \lambda^s f(x) + \mu^s f(y)$$

for all $x, y \in U$ and $\lambda, \mu \geq 0$ with $\lambda^s + \mu^s = 1$.

In the case $k(\lambda) = \lambda$ and $h(\lambda) = \lambda^s$ for $0 < s \leq 1$ in (2), the following type of s -convexity is obtained as follows:

DEFINITION 1.4. [9] Let $s \in (0, 1]$ and $U \subseteq \mathbb{R}^n$ be a convex set. A function $f : U \rightarrow \mathbb{R}$ is said to be s -convex in the second sense if the inequality

$$(5) \quad f(\lambda x + \mu y) \leq \lambda^s f(x) + \mu^s f(y)$$

holds for all $x, y \in U$ and all $\lambda, \mu \geq 0$ with $\lambda + \mu = 1$.

The classes of *s*-convex functions in first and second senses are denoted by K_s^1 and K_s^2 respectively. It can be easily seen that in the case $s = 1$, each type of *s*-convexity is reduced to the ordinary convexity of functions.

The origin of the *p*-convex sets involves the *p*-normed spaces [7,23]. Some properties involving convex hull, discrete sets and Caratheodory Theorem are found in [5–8,17,23], and the references therein for further reading. Also, there is a large number of studies on *s*-convex functions and their properties, relevant inequalities mainly including Hermite-Hadamard type inequalities ([12,13,16,22,26] and the references therein).

In this study, replacing $k(\lambda) = \lambda^{\frac{1}{s}}$ and $h(\lambda) = \lambda^{\frac{1}{s^2}}$ in (2), we present a new type of convex function called the *s*-convex function in the third sense. Its basic characterizations, basic algebraic and functional properties and also relations between *s*-convex functions in the third sense with respect to different values of *s* are examined.

2. *s*-Convex Function In The Third Sense And Their Properties

DEFINITION 2.1. Let $s \in (0, 1]$ and $U \subseteq \mathbb{R}^n$ be a *s*-convex set. A function $f : U \rightarrow \mathbb{R}$ is said to be *s*-convex function in the third sense if the inequality

$$(6) \quad f(\lambda x + \mu y) \leq \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y)$$

is satisfied for all $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$.

The inequality (6) is equivalent to the following inequalities:

$$f(\lambda^{\frac{1}{s}} x + (1 - \lambda)^{\frac{1}{s}} y) \leq \lambda^{\frac{1}{s^2}} f(x) + (1 - \lambda)^{\frac{1}{s^2}} f(y)$$

or

$$f(\lambda x + (1 - \lambda^s)^{\frac{1}{s}} y) \leq \lambda^{\frac{1}{s}} f(x) + (1 - \lambda^s)^{\frac{1}{s^2}} f(y)$$

where $\lambda \in [0, 1]$ and $x, y \in U$. The class of these functions is denoted by K_s^3 . In this paper, $U \subseteq \mathbb{R}^n$ will be taken as a *s*-convex set.

EXAMPLE 2.1. Let $s \in (0, 1]$ and $a, b, c \in \mathbb{R}$ with $b, c < 0$. The function

$$f(x) = \begin{cases} a, & \text{if } x = 0 \\ bx^{\frac{1}{s}} + c, & \text{if } x > 0 \end{cases}$$

is *s*-convex function in the third sense on $(0, \infty)$. By adding extra condition $c \leq a$, we can say f is *s*-convex function in the third sense on $[0, \infty)$.

Assume that $x, y \in (0, \infty)$. Then $\lambda x + \mu y > 0$ with $\lambda^s + \mu^s = 1$.

$$\begin{aligned} f(\lambda x + \mu y) &= b (\lambda x + \mu y)^{\frac{1}{s}} + c \\ &\leq b \left(\lambda^{\frac{1}{s}} x^{\frac{1}{s}} + \mu^{\frac{1}{s}} y^{\frac{1}{s}} \right) + c \\ &= b \left(\lambda^{\frac{1}{s}} x^{\frac{1}{s}} + \mu^{\frac{1}{s}} y^{\frac{1}{s}} \right) + c (\lambda^s + \mu^s) \\ &\leq b \left(\lambda^{\frac{1}{s}} x^{\frac{1}{s}} + \mu^{\frac{1}{s}} y^{\frac{1}{s}} \right) + c \left(\lambda^{\frac{1}{s}} + \mu^{\frac{1}{s}} \right) \\ &= \lambda^{\frac{1}{s}} \left(bx^{\frac{1}{s}} + c \right) + \mu^{\frac{1}{s}} \left(by^{\frac{1}{s}} + c \right) \\ &= \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y) \end{aligned}$$

By considering extra condition $c \leq a$, we have two cases $x = 0, y \neq 0$ and $x = y = 0$. For $y > x = 0$ we have

$$\begin{aligned} f(\lambda 0 + \mu y) &= f(\mu y) = b\mu^{\frac{1}{s}}y^{\frac{1}{s}} + c = b\mu^{\frac{1}{s}}y^{\frac{1}{s}} + c(\lambda^s + \mu^s) \\ &\leq b\mu^{\frac{1}{s}}y^{\frac{1}{s}} + c\left(\lambda^{\frac{1}{s}} + \mu^{\frac{1}{s}}\right) \\ &= \lambda^{\frac{1}{s}}c + \mu^{\frac{1}{s}}\left(by^{\frac{1}{s}} + c\right) \\ &= \lambda^{\frac{1}{s}}c + \mu^{\frac{1}{s}}f(y) \\ &\leq \lambda^{\frac{1}{s}}a + \mu^{\frac{1}{s}}f(y) \\ &= \lambda^{\frac{1}{s}}f(0) + \mu^{\frac{1}{s}}f(y) \end{aligned}$$

For $y = x = 0$ we have

$$f(\lambda 0 + \mu 0) = a \leq a\left(\lambda^{\frac{1}{s}} + \mu^{\frac{1}{s}}\right) = \lambda^{\frac{1}{s}}f(0) + \mu^{\frac{1}{s}}f(0).$$

EXAMPLE 2.2. Let

$$U = \{(x_1, x_2, \dots, x_n) \in \mathbb{R}^n \mid x_1 + \dots + x_n \geq 0\}$$

and $k \in \mathbb{R}_+$. It can be clearly seen that U is a s -convex set. If we define $f : U \rightarrow \mathbb{R}$ such that $f(x_1, \dots, x_n) = -k(x_1 + \dots + x_n)$, then $f \in K_s^3$. Because, we have $\lambda, \mu \geq 0$ with $\lambda^s + \mu^s = 1$, it can be written

$$\begin{aligned} f(\lambda(x_1, \dots, x_n) + \mu(y_1, \dots, y_n)) &= -k(\lambda x_1 + \mu y_1 + \dots + \lambda x_n + \mu y_n) \\ &= \lambda(-k)(x_1 + \dots + x_n) + \mu(-k)(y_1 + \dots + y_n) \\ &\leq \lambda^{\frac{1}{s}}(-k)(x_1 + \dots + x_n) + \mu^{\frac{1}{s}}(-k)(y_1 + \dots + y_n) \\ &= \lambda^{\frac{1}{s}}f(x_1 + \dots + x_n) + \mu^{\frac{1}{s}}f(y_1 + \dots + y_n). \end{aligned}$$

So, it is obtained that $f \in K_s^3$.

THEOREM 2.1. Let $f : U \rightarrow \mathbb{R}_+$. If $f \in K_s^3$, then f is a s -convex function (where, the concept of s -convex function is the same as the concept of p -convex function in Definition 1.2).

Proof. Let $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$. Then, we have

$$f(\lambda x + \mu y) \leq \lambda^{\frac{1}{s}}f(x) + \mu^{\frac{1}{s}}f(y) \leq \lambda f(x) + \mu f(y). \quad \square$$

THEOREM 2.2. Let $f : U \rightarrow \mathbb{R}_+$ be a function. If $f \in K_s^3$, then $f \in K_s^1$.

Proof. Let $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$. Then, we have

$$f(\lambda x + \mu y) \leq \lambda^{\frac{1}{s}}f(x) + \mu^{\frac{1}{s}}f(y) \leq \lambda^s f(x) + \mu^s f(y). \quad \square$$

THEOREM 2.3. Let $f : U \rightarrow \mathbb{R}_+$ be a function. If $f \in K_s^3$, then the inequality

$$f\left(\frac{x+y}{2^{\frac{1}{s}}}\right) \leq \frac{f(x) + f(y)}{2^{\frac{1}{s}}}$$

is valid for all $x, y \in U$.

Proof. From $s \in (0, 1]$, it is clear that $\frac{1}{2^{\frac{1}{s^2}}} \leq \frac{1}{2^{\frac{1}{s}}}$. Thus, the inequalities

$$f\left(\frac{x+y}{2^{\frac{1}{s}}}\right) \leq \frac{f(x)+f(y)}{2^{\frac{1}{s^2}}} \leq \frac{f(x)+f(y)}{2^{\frac{1}{s}}}$$

are obtained. □

THEOREM 2.4. *Let $f : U \rightarrow \mathbb{R}$ be a function and the function $g : [0, 1] \rightarrow \mathbb{R}$ define by $g(t) = f(tx + (1 - t^s)^{\frac{1}{s}}y)$. If $g \in K_s^3$, then $f \in K_s^3$.*

Proof. Let $x, y \in U$ and $\lambda \in [0, 1]$. Then

$$\begin{aligned} f\left(\lambda x + (1 - \lambda^s)^{\frac{1}{s}}y\right) &= g(\lambda) = g\left(\lambda \cdot 1 + (1 - \lambda^s)^{\frac{1}{s}} \cdot 0\right) \\ &\leq \lambda^{\frac{1}{s}}g(1) + (1 - \lambda^s)^{\frac{1}{s^2}}g(0) \\ &= \lambda^{\frac{1}{s}}f(x) + (1 - \lambda^s)^{\frac{1}{s^2}}f(y). \end{aligned}$$

□

THEOREM 2.5. *Let $f_i : U \rightarrow \mathbb{R}$ be functions and $f : U \rightarrow \mathbb{R}$ define by $f(x) = \sum_{i=1}^m a_i f_i(x)$ where $a_i \geq 0$. If $f_i \in K_s^3$ for $i = 1, 2, \dots, m$, then $f \in K_s^3$.*

Proof. For $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$, we have

$$\begin{aligned} f(\lambda x + \mu y) &= \sum_{i=1}^m a_i f_i(\lambda x + \mu y) \\ &\leq \sum_{i=1}^m a_i \left(\lambda^{\frac{1}{s}} f_i(x) + \mu^{\frac{1}{s}} f_i(y) \right) \\ &= \lambda^{\frac{1}{s}} \sum_{i=1}^m a_i f_i(x) + \mu^{\frac{1}{s}} \sum_{i=1}^m a_i f_i(y) \\ &= \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y). \end{aligned}$$

This shows that $f \in K_s^3$. □

THEOREM 2.6. *Let $f_i : U \rightarrow \mathbb{R}$ be functions and $f : U \rightarrow \mathbb{R}$ define by $f(x) = \max_{1 \leq i \leq m} \{f_i(x)\}$. If $f_i \in K_s^3$ for $i = 1, 2, \dots, m$, then $f \in K_s^3$.*

Proof. For each $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$,

$$\begin{aligned} f(\lambda x + \mu y) &= \max_{1 \leq i \leq m} \{f_i(\lambda x + \mu y)\} \\ &\leq \max_{1 \leq i \leq m} \left\{ \lambda^{\frac{1}{s}} f_i(x) + \mu^{\frac{1}{s}} f_i(y) \right\} \\ &\leq \max_{1 \leq i \leq m} \left\{ \lambda^{\frac{1}{s}} f_i(x) \right\} + \max_{1 \leq i \leq m} \left\{ \mu^{\frac{1}{s}} f_i(y) \right\} \\ &\leq \lambda^{\frac{1}{s}} \max_{1 \leq i \leq m} \{f_i(x)\} + \mu^{\frac{1}{s}} \max_{1 \leq i \leq m} \{f_i(y)\} \\ &= \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y). \end{aligned}$$

Thus, $f = \max_{1 \leq i \leq m} \{f_i\} \in K_s^3$. □

THEOREM 2.7. *Let $f : U \rightarrow \mathbb{R}_+$ be a function. If $f \in K_s^3$, then any local minimum of f is a global minimum.*

Proof. Let x^* be a local minimum of f . Assume the contrary, that is, $f(y) < f(x^*)$, for some $y \in U$. Since $f \in K_s^3$, for all $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$, we have

$$\begin{aligned} f(\lambda x^* + \mu y) &\leq \lambda^{\frac{1}{s}} f(x^*) + \mu^{\frac{1}{s}} f(y) \\ &\leq \lambda^s f(x^*) + \mu^s f(y) \\ &\leq (1 - \mu^s) f(x^*) + \mu^s f(y) \\ &\leq f(x^*) + \mu^s (f(y) - f(x^*)) \\ &< f(x^*) \end{aligned}$$

for some small $\mu > 0$. This contradicts with x^* being a local minimum point. Hence every local minimum of f is a global minimum. □

The Jensen inequality for s -convex functions in the third sense is given in the following theorem.

THEOREM 2.8. *Let $f : U \rightarrow \mathbb{R}$ be a function, $x_1, \dots, x_m \in U$ and $\lambda_1, \dots, \lambda_m \geq 0$ with $\lambda_1^s + \dots + \lambda_m^s = 1$. If $f \in K_s^3$, then*

$$f(\lambda_1 x_1 + \dots + \lambda_m x_m) \leq \lambda_1^{\frac{1}{s}} f(x_1) + \dots + \lambda_m^{\frac{1}{s}} f(x_m).$$

Proof. Induction on m will be used in proof. The inequality is trivially true when $m = 2$. Assume that it is true when $m = k$, where $k > 2$. Now we show the validity for $m = k + 1$. Let x be defined by the equation

$$x = \lambda_1 x_1 + \dots + \lambda_{k+1} x_{k+1}$$

where $x_1, \dots, x_{k+1} \in U$, $\lambda_1, \dots, \lambda_{k+1} \geq 0$ with $\lambda_1^s + \dots + \lambda_{k+1}^s = 1$. At least one of $\lambda_1, \dots, \lambda_{k+1}$ must be less than 1. Let us say $\lambda_{k+1} < 1$ and write

$$\lambda_1^s + \dots + \lambda_k^s = 1 - \lambda_{k+1}^s.$$

One can find $\lambda_* < 1$ such that $\lambda_1^s + \dots + \lambda_k^s = \lambda_*^s$. Using $\left(\frac{\lambda_1}{\lambda_*}\right)^s + \dots + \left(\frac{\lambda_k}{\lambda_*}\right)^s = 1$ and the assumption of hypothesis, we get

$$f\left(\frac{\lambda_1}{\lambda_*} x_1 + \dots + \frac{\lambda_k}{\lambda_*} x_k\right) \leq \left(\frac{\lambda_1}{\lambda_*}\right)^{\frac{1}{s}} f(x_1) + \dots + \left(\frac{\lambda_k}{\lambda_*}\right)^{\frac{1}{s}} f(x_k).$$

Thus,

$$\begin{aligned} f(x) &= f\left(\lambda_* \left(\frac{\lambda_1}{\lambda_*} x_1 + \dots + \frac{\lambda_k}{\lambda_*} x_k\right) + \lambda_{k+1} x_{k+1}\right) \\ &\leq \lambda_*^{\frac{1}{s}} f\left(\frac{\lambda_1}{\lambda_*} x_1 + \dots + \frac{\lambda_k}{\lambda_*} x_k\right) + \lambda_{k+1}^{\frac{1}{s}} f(x_{k+1}) \\ &\leq \lambda_1^{\frac{1}{s}} f(x_1) + \dots + \lambda_{k+1}^{\frac{1}{s}} f(x_{k+1}) \end{aligned}$$

is obtained. This completes the proof by induction. □

THEOREM 2.9. *Let $f : \mathbb{R}_+ \rightarrow \mathbb{R}$ be an increasing function and $g : U \rightarrow \mathbb{R}_+$ be a function. If $f, g \in K_s^3$, then $f \circ g \in K_s^3$.*

Proof. Let $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$.

$$\begin{aligned} (f \circ g)(\lambda x + \mu y) &= f(g(\lambda x + \mu y)) \\ &\leq f(\lambda^{\frac{1}{s}}g(x) + \mu^{\frac{1}{s}}g(y)) \\ &\leq f(\lambda g(x) + \mu g(y)) \\ &\leq \lambda^{\frac{1}{s}}f(g(x)) + \mu^{\frac{1}{s}}f(g(y)) \\ &= \lambda^{\frac{1}{s}}(f \circ g)(x) + \mu^{\frac{1}{s}}(f \circ g)(y). \end{aligned}$$

Hence, $f \circ g \in K_s^3$. □

THEOREM 2.10. *If $f \in K_s^3$ and $g : \mathbb{R} \rightarrow \mathbb{R}$ is an increasing linear function, then $g \circ f \in K_s^3$.*

Proof. Let $x, y \in U$ and $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$.

$$\begin{aligned} (g \circ f)(\lambda x + \mu y) &= g(f(\lambda x + \mu y)) \\ &\leq g(\lambda^{\frac{1}{s}}f(x) + \mu^{\frac{1}{s}}f(y)) \\ &= \lambda^{\frac{1}{s}}g(f(x)) + \mu^{\frac{1}{s}}g(f(y)) \\ &= \lambda^{\frac{1}{s}}(g \circ f)(x) + \mu^{\frac{1}{s}}(g \circ f)(y). \end{aligned}$$

Hence, $g \circ f \in K_s^3$. □

THEOREM 2.11. *Let $g : U \rightarrow V$ be a linear transformation and $f : V \rightarrow \mathbb{R}$ be a function. If $f \in K_s^3$, then $f \circ g \in K_s^3$.*

Proof. Let $\lambda, \mu \geq 0$ such that $\lambda^s + \mu^s = 1$. Thus, we get

$$\begin{aligned} (f \circ g)(\lambda x + \mu y) &= f(g(\lambda x + \mu y)) \\ &= f(\lambda g(x) + \mu g(y)) \\ &\leq \lambda^{\frac{1}{s}}f(g(x)) + \mu^{\frac{1}{s}}f(g(y)) \\ &= \lambda^{\frac{1}{s}}(f \circ g)(x) + \mu^{\frac{1}{s}}(f \circ g)(y) \end{aligned}$$

for all $x, y \in U$. Hence, $f \circ g \in K_s^3$. □

THEOREM 2.12. *Let $f : U \rightarrow \mathbb{R}$ be a function and $f \in K_s^3$. Then, the inequality (6) holds for all $x, y \in U$ and $\lambda, \mu \geq 0$ with $\lambda^s + \mu^s \leq 1$ if and only if $f(0) \leq 0$.*

Proof. Necessity is obvious by taking $\lambda = \mu = 0$. Therefore, assume that $x, y \in U$ and $\lambda, \mu \geq 0$ and $0 < \gamma < 1$ where $\gamma = \lambda^s + \mu^s$. Put $\alpha = \lambda\gamma^{-\frac{1}{s}}$ and $\beta = \mu\gamma^{-\frac{1}{s}}$. Then

$$\alpha^s + \beta^s = \frac{\lambda^s}{\gamma} + \frac{\mu^s}{\gamma} = 1$$

and hence we have sufficiency:

$$\begin{aligned}
 f(\lambda x + \mu y) &= f\left(\alpha \gamma^{\frac{1}{s}} x + \beta \gamma^{\frac{1}{s}} y\right) \\
 &\leq \alpha^{\frac{1}{s}} f(\gamma^{\frac{1}{s}} x) + \beta^{\frac{1}{s}} f(\gamma^{\frac{1}{s}} y) \\
 &= \alpha^{\frac{1}{s}} f(\gamma^{\frac{1}{s}} x + (1 - \gamma)^{\frac{1}{s}} \cdot 0) + \beta^{\frac{1}{s}} f(\gamma^{\frac{1}{s}} y + (1 - \gamma)^{\frac{1}{s}} \cdot 0) \\
 &\leq \alpha^{\frac{1}{s}} \left[\gamma^{\frac{1}{s^2}} f(x) + (1 - \gamma)^{\frac{1}{s^2}} f(0) \right] + \beta^{\frac{1}{s}} \left[\gamma^{\frac{1}{s^2}} f(y) + (1 - \gamma)^{\frac{1}{s^2}} f(0) \right] \\
 &= \alpha^{\frac{1}{s}} \gamma^{\frac{1}{s^2}} f(x) + \beta^{\frac{1}{s}} \gamma^{\frac{1}{s^2}} f(y) + (\alpha^{\frac{1}{s}} + \beta^{\frac{1}{s}}) (1 - \gamma)^{\frac{1}{s^2}} f(0) \\
 &\leq \alpha^{\frac{1}{s}} \gamma^{\frac{1}{s^2}} f(x) + \beta^{\frac{1}{s}} \gamma^{\frac{1}{s^2}} f(y) \\
 &= \lambda^{\frac{1}{s}} f(x) + \mu^{\frac{1}{s}} f(y).
 \end{aligned}$$

□

THEOREM 2.13. Let $0 < s_1 \leq s_2 \leq 1$, $f : \mathbb{R}_+ \rightarrow \mathbb{R}$ be an increasing function, $g : U \rightarrow \mathbb{R}_+$ be a function and $g(0) = 0$. If $f \in K_{s_1}^3$ and $g \in K_{s_2}^3$, then $f \circ g \in K_{s_1}^3$.

Proof. Let $x, y \in U$ and $\lambda, \mu \geq 0$ with $\lambda^{s_1} + \mu^{s_1} = 1$. According to Theorem 2.12 and using $\lambda^{s_2} + \mu^{s_2} \leq \lambda^{s_1} + \mu^{s_1} = 1$, we have

$$\begin{aligned}
 (f \circ g)(\lambda x + \mu y) &= f(g(\lambda x + \mu y)) \\
 &\leq f(\lambda^{\frac{1}{s_2}} g(x) + \mu^{\frac{1}{s_2}} g(y)) \\
 &\leq f(\lambda g(x) + \mu g(y)) \\
 &\leq \lambda^{\frac{1}{s_1}} (f \circ g)(x) + \mu^{\frac{1}{s_1}} (f \circ g)(y),
 \end{aligned}$$

which means that $f \circ g \in K_{s_1}^3$. □

THEOREM 2.14. Let $0 < s_1 \leq s_2 \leq 1$. If $f : U \rightarrow (-\infty, 0]$ and $f \in K_{s_2}^3$, then $f \in K_{s_1}^3$.

Proof. Let $f \in K_{s_2}^3$, $x, y \in U$ and $\lambda, \mu \geq 0$ with $\lambda^{s_1} + \mu^{s_1} = 1$. Then we have

$$\lambda^{s_2} + \mu^{s_2} \leq \lambda^{s_1} + \mu^{s_1} = 1.$$

Since U is s -convex set, it includes the origin. According to Theorem 2.12, we have

$$f(\lambda x + \mu y) \leq \lambda^{\frac{1}{s_2}} f(x) + \mu^{\frac{1}{s_2}} f(y) \leq \lambda^{\frac{1}{s_1}} f(x) + \mu^{\frac{1}{s_1}} f(y).$$

That means $f \in K_{s_1}^3$. □

References

- [1] Adilov G. and Yesilce I., B^{-1} -convex Functions, Journal of Convex Analysis. **24** (2) (2017), 505–517.
- [2] Adilov G. and Yesilce I., Some important properties of B -convex functions, Journal of Nonlinear and Convex Analysis. **19** (4) (2018), 669–680.
- [3] Adilov G. and Yesilce I., On generalizations of the concept of convexity, Hacettepe Journal of Mathematics and Statistics. **41** (5) (2012), 723–730.

- [4] Adilov G., Tmaztepe G., and Tmaztepe R., *On the global minimization of increasing positively homogeneous functions over the unit simplex*, International Journal of Computer Mathematics. **87** (12) (2010), 2733–2746.
- [5] Bastero J., Bernues J., and Pena A., *The Theorems of Caratheodory and Gluskin for $0 < p < 1$* , Proceedings of the American Mathematical Society. **123** (1) (1995), 141–144.
- [6] Bayoumi A., Ahmed AF., *p-Convex Functions in Discrete Sets*, International Journal of Engineering and Applied Sciences. **4** (10) (2017), 63–66.
- [7] Bayoumi A., *Foundation of complex analysis in non locally convex spaces*, North Holland, Mathematics Studies, Elsevier, 2003.
- [8] Bernués J., Pena A., *On the shape of p-Convex hulls, $0 < p < 1$* , Acta Mathematica Hungarica. **74** (4) (1997), 345–353.
- [9] Breckner W. W., *Stetigkeitsaussagen für eine Klasse verallgemeinerter konvexer Funktionen in topologischen linearen Räumen*, Publ. Inst. Math. **23** (1978), 13–20.
- [10] Bric W., Horvath C., *B-convexity*, Optimization. **53** (2) (2004), 103–127.
- [11] Bric W. and Horvath C., *Nash points, Ky Fan inequality and equilibria of abstract economies in Max-Plus and B-convexity*, Journal of Mathematical Analysis and Applications. **341** (1) (2008), 188–199.
- [12] Chen F. and Wu S., *Several complementary inequalities to inequalities of Hermite-Hadamard type for s-convex functions*, Journal of Nonlinear Science Applications. **9** (2016), 705–716.
- [13] Dragomir S. S. and Fitzpatrick S., *s-Orlicz convex functions in linear spaces and Jensen's discrete inequality*, Journal of Mathematical Analysis and Applications. **210** (2) (1997), 419–439.
- [14] Dreves A. and Gwinner J., *Jointly convex generalized Nash equilibria and elliptic multiobjective optimal control*, Journal of Optimization Theory and Applications. **168** (3) (2016), 1065–1086.
- [15] Kemali S., Yesilce I., and Adilov G., *B-Convexity, B^{-1} -Convexity, and Their Comparison*, Numerical Functional Analysis and Optimization. **36** (2) (2015), 133–146.
- [16] Khan M. A., Chu Y., Khan T. U., and Khan J., *Some new inequalities of Hermite-Hadamard type for s-convex functions with applications*, Open Mathematics. **15** (1) (2017), 1414–1430.
- [17] Kim J., Yaskin V., and Zvavitch A., *The geometry of p-convex intersection bodies*, Advances in Mathematics. **226** (6) (2011), 5320–5337.
- [18] Laraki R., Renault J., and Sorin S., *Mathematical foundations of game theory*, Springer, 2019.
- [19] Matuszewska W. and Orlicz W., *A note on the theory of s-normed spaces of ϕ -integrable functions*, Studia Mathematica. **21** (1961), 107–115.
- [20] Micherda B. and Rajba T., *On some Hermite-Hadamard-Fejér inequalities for (k,h)-convex functions*, Math. Inequal. Appl. **15** (4) (2012), 931–940.
- [21] Musielak J., *Orlicz spaces and modular spaces*, 1034, Springer-Verlag, 2006.
- [22] Orlicz W., *A note on modular spaces*, I. Bull. Acad. Polon. Soi., Ser. Math. Astronom Phys. **9** (1961), 157–162.
- [23] Peck N. T., *Banach-Mazur distances and projections on p-convex spaces*, Mathematische Zeitschrift. **177** (1) (1981), 131–142.
- [24] Rolewicz S., *Metric Linear Spaces*, Netherlands, Springer, 1985.
- [25] Rubinov A., *Abstract convexity and global optimization*, Springer Science & Business Media, 2013.
- [26] Sarikaya M. Z. and Kiris M. E., *Some new inequalities of Hermite-Hadamard type for s-convex functions*, Miskolc Mathematical Notes. **16** (1) (2015), 491–501.
- [27] Sezer S., Eken Z., Tmaztepe G., and Adilov G., *p-Convex Functions and Some of Their Properties*, Numerical Functional Analysis and Optimization. **42** (4) (2021), 443–459.
- [28] Tmaztepe G., Yesilce I., and Adilov G., *Separation of B^{-1} -convex Sets by B^{-1} -measurable Maps*, Journal of Convex Analysis. **21** (2) (2014), 571–580.
- [29] Yesilce I. and Adilov G., *Some Operations on B^{-1} -convex Sets*, Journal of Mathematical Sciences: Advances and Applications. **39** (1) (2016), 99–104.

Serap Kemali

Vocational School of Technical Sciences, Akdeniz University, Antalya, Turkey

E-mail: skemali@akdeniz.edu.tr

Sevda Sezer

Faculty of Education, Akdeniz University, Antalya, Turkey

E-mail: sevdasezer@akdeniz.edu.tr

Gültekin Tınaztepe

Vocational School of Technical Sciences, Akdeniz University, Antalya, Turkey

E-mail: gtinaztepe@akdeniz.edu.tr

Gabil Adilov

Faculty of Education, Akdeniz University, Antalya, Turkey

E-mail: gabil@akdeniz.edu.tr